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ECONOMICS
Paper-Indian Economy (In all Mediums)

Time Allowed: Three Hours] [Maximum Marks : 90

Note :- (1) There are two Sections-Section A and Section B.

(2) Question No. 1 is compulsory.

(3) From Section B, attempt one question from each unit.

SECTION—A

I. Attempt any nine out of twelve short answer questions :

(i) Features of Indian agriculture on the eve of Independence.

(ii) What do you understand by land reforms ?

(iii) Land Ceiling.

(iv) Problems of Private Sector in India.

(v) Privatisation.

(vi) Problems of IT industry.

(vii) Differentiate between direct and indirect taxes.

(viii) Import Substitution.
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(ix) Main items of imports in India.

(x) Rationale of Planning in India.

(xi) Mixed economy.

(xii) Why common people do not like inflation ? 9x2=18

SECTION—B

UNIT-I

Write the main features of Indian economy at the time of

Independence. 18

Explain agriculture productivity in India. Suggest measures to

increase agricultural productivity in India. 6+12

UNIT-II

Explain and evaluate the Industrial Policy of 1991 along with recent

changes. 18

Explain the role and problems of small scale industries in India in

the present era of globalization. 8+10

UNIT-III

6. Explain the main features of Indian Taxation System. Suggest

measures to improve it. 10+8

7. Critically evaluate the role of Multinational Corporations (MNCs)

in India. 18

UNIT-IV

8. Explain the achievements and failures of Indian Planning since

1951. 18
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(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(\iii)

(ix)

>9. Explain the nature and extent of unemployment in India. Suggest

measures to eradicate the problem of unemployment from India.

4+4+10
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